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Pass Marks : 21
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The figures in the margin indicate full marks
for the questions.
Q. No. 1 & Q. No. 2 carry 1 mark eaclt IS
Q. No. 3 (a to j) carries 2 marks eaclh 2x10 = 20
Q. No. 4 (a to J) carries 3 marks each (any nine) 3x9 = 27
Q. No. 5 (a to d) carries 5 marks eacl (any three) 5x3 = 15
Total = 70
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1. Choose the correct answer from the four alternatives given below : (¢) Which state is ranked first in tea production in India ?

’ ' 1x4=4§ 51z LA ©leq (FFE ey 4T B M@tz 2
wote WAl 5if<5) Gs Tesw o[ wm Teas! dife SEe

i

(d) Which country has the largest road network in the world ?
(@) Which of the two seas/oceans are connected by the Suez Canal ? i :
/ y @R (PO 71 [eoTe FRITONS IR 22 HeAls! 2] DR 2
SO (IR TR AR/ TEA6E pEe A AN SRz 2
Answer very briefly on : - 1x4=4
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(1) Mediterranean Sea and Red Sea

T Al S @AifZe AR
3 (@) What is the full form of NHAI ?

(i1)) Altantic Ocean and Pacific Ocean

NHAI 3 7777 75t & 2
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(b) Write the name of a disease caused by water pollution.

(111) Caspian Sea and Mediterranean Sea
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()  Where the Rengma Hill is situated ?

(o) A miaS d Black S :
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(d) In which district the literacy rate is highest in Assam as per the

(b) Jamshedpur is an example of which type of town/city ? census 2011 ?
S (R o/ ST il 2 ST (P fEETe AN A9 205 5 (eRfais S TR 2
DL Commbriale; : |
erical city / aifdfers S2=aiE _ Answer in brief : 2x10=20
(i) Industrial city / STrifeie Tgwo= 53 Sex 7l 8

(it)) Mineral town / ¥fl® 959

(@)  What do you mean by Environmental determinism ?

(iv) Administrative town / Z=PiRS F91 sifdcel FEgeaw 3 & 9@ 2
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(b) What are the problems of human settlement in developing countries G (j)  Write about the causes of population increase in Assam.
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(c) Write two socio-economic factors responsible for distribution ¢

nswer the following questions in about 100 words each
population.

(any nine) ' ; . 3x9=27
SRl [eaes 2ol coiteiRl 76 S ot @ i |
. a

o fral 2R AU eI 10001 *+ fSose fWa ¢ (Rizzr 95))
(d) Why India is called a land of villages ? Justify. |

(@) Write about the significance of age-sex pyramid.
oigeT 7 Aol I @R = 2 [ Fore! i 5 |
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() What are the two bases of Indian migration ?

(b)  What are the differences between secondary and tertiary activities ?
Cigoy e o 7o i & ¢ !
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()  Write a note on cotton cultivation in India.
SRR TR (Ao R o6 Gt i (©)

Write about the North Atlantic Sea Route.

Teq HGafod TN 212 [Eem &y |
(99 What are the contributions of India in World Trade ? :
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(d)  Why the water transport is cheaper than other modes of transport ?

() Discuss the environmental pollution caused by solid wastes. rn emreifaaee o sifte R TS 2
! SRS ST crat AR R IR S 4| )  On the basis of function, classify the towns.
(1)

What is the average length'ahd breadth of the plain of t SRRl SR R 2 Y
Brahmaputra Valley ?

f  Describe various types of road transport in India.
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(g) Classify x/;rasteland according to National Remote Sensing Agencl (¢) Discuss the main problems of agriculture in India.
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() Write the importance of silk industry of Assam. (d) Draw an outline map of India and mark the following therein.
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(1)  Two port cities
(i) What are the main problems of Rail Transport in Assam ? P

7/ T 5l
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(ii)  Two oil refineries
I ;
(i) How are the countries classified on the basis of human developnt

70! (o5 (SIIEeTaNT |

index ?
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Answer the following questions : (any three)
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(a)

Discuss the Geographical‘ factors affecting the distributio: 7

population.

G esee 2oR (o[l colalifEe SRnRa @ Bl |
(b) Discuss the factors of tourist attractions.
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